Indexes:

The CONTENTS Procedure

Data Set Name: IN1.AMBULECG Observations:
Member Type: DATA Variables:

Engine: XPORT

Created: 11:53 Wednesday, December 8, 2004 Observation Len Last Modified: 11:53 Wednesday, December 8, 2004 Deleted Observa

Protection: Compressed: Sorted:

Label:

#	Variable	Type	Len	Pos	Label
1	BH1	Num	8	0	RANDOM IDENTIFICATION NUMBER
2	BH789	Num	8	8	AVERAGE NUMBER OF VPBS/HR AT BASELIN
3	BH790	Num	8	16	AVERAGE NO. OF VT EVENTS/HR AT BASAE
4	BH791	Num	8	24	AVERAGE NO. OF VPB PAIRS/HR AT BASEL
5	BH792	Num	8	32	MULTIFORMS AT BASELINE
6	BH793	Num	8	40	AVERAGE NUMBER OF VPBS/HR AT 6 WEEKS
7	BH794	Num	8	48	AVERAGE NUMBER OF VT EVENTS/HR AT 6
8	BH795	Num	8	56	AVERAGE NUMBER OF VPB PAIRS/HR AT 6
9	BH796	Num	8	64	MULTIFORMS AT 6 WEEK

Observation Len

The CONTENTS Procedure

Data Set Name: IN2.BASELINE Observations: Member Type: DATA Variables: Engine: **XPORT** Indexes:

11:53 Wednesday, December 8, 2004 Created:

Last Modified: 11:53 Wednesday, December 8, 2004 Deleted Observa Protection: Compressed: Sorted:

Data Set Type:

Label:

#	Variable	Туре	Len	Pos	Label
1	BH1	Num	8	0	RANDOM IDENTIFICATION NUMBER
2	BH29	Num	8	8	ROSE QUESTIONAIRE ANGINA
3	BH30	Num	8	16	HOW MANY DAYS PER WEEK HAVE THIS PA
4	BH31	Num	8	24	DAYS WITH PAIN HOW MANY TIMES PER D
5	BH32	Num	8	32	HAD PAIN HOW LONG DID IT USUALLY LA
6	BH33	Num	8	40	PAIN OR DISCOMFORT EVER OCCUR AT RE
7	BH34	Num	8	48	PAIN OR DISCOMPORT EVER OCCUR AFTER
8	BH35	Num	8	56	MONTH PRIOR TO HOSPITIZATION SYMPTO
9	BH36	Num	8	64	PRIOR TO ILL DOCTOR TOLD HAD HRT AT
10	BH37	Num	8	72	FIRST YEAR DOCTOR TOLD YOU OF HRT A
11	BH38	Num	8	80	FOR HOW MANY HEART ATTACKS HOSPITAL
12	BH39	Num	8	88	BEFOR HOSPITAL SHRT BREATH WAS HRT
13	BH40	Num	8	96	WERE YOU TREATED WITH DIGITALIS
14	BH41	Num	8	104	WERE YOU TREATED WITH DIURETICS
15	BH42	Num	8	112	BEFORE HOSPITALIZ DOCTOR TOLD HIGH
16	BH43	Num	8	120	WERE YOU TREATED WITH DIURETICS
17	BH44	Num	8	128	TREATED WITH OTHER ANTIHYPERTENSIVE
18	BH45	Num	8	136	ROSE QUESTIONAIRE INTERMITTENT CLAU
19	BH46	Num	8	144	DIABETES (HICH SUGAR IN BLOOD OR UR
20	BH47	Num	8	152	CIRRHOSIS OR OTHER LIVER DISEASE
21	BH48	Num	8	160	BRONCHIAL ASTHMA OR EMPHYSEMA
22	BH49	Num	8	168	STROKE
23	BH50	Num	8	176	VALVULAR HEART DISEASE
24	BH51	Num	8	184	CANCER
25	BH52	Num	8	192	PRIOR THIS HOSPITALIZ TAKING INDERA
26	BH53	Num	8	200	PRIOR THIS HOSPITALIZ TAKING OTH BE
27	BH54	Num	8	208	WITHIN 3 MO AND BEFORE HOSP EXPER F
28	BH55	Num	8	216	PROBLEM-HEART BEATING FASTER OR SKI
29	BH56	Num	8	224	BLACKING OUT OR LOSING CONSCIOUSNES
30	BH57	Num	8	232	FREQ DEPRESSION INTERFER WITH WORK
31	BH58	Num	8	240	UNUSUAL TIREDNESS OR FATIQUE DURING
32	BH59	Num	8	248	FREQ NIGHTMARES OR VIVID DREAMS
33	BH60	Num	8	256	HALLUCINATIONS
34	BH61	Num	8	264	BLURRED VISION
35	BH62	Num	8	272	RECURRENT INSOMNIA OR WAKING UP TOO
36	BH63	Num	8	280	RECURRENT NAUSEA AND VOMITING

37	BH64	Num	8	288	RECURRENT ABDOMINAL PAIN OR CRAMPIN
38	BH65	Num	8	296	RECURRENT DIARRHEA
39	BH66	Num	8	304	RECURRENT CONSTIPATION
40	BH67	Num	8	312	RECURRENT BRONCHASPAS(WHEZZING IN C
41	BH68	Num	8	320	RECURRENT MUSCLE CRAMPS
42	BH69	Num	8	328	DRYNESS OF EYES

#	Variable	Туре	Len	Pos	Label
43	BH70	Num	8	336	HANDS OR FEET BEING EXTREMELY COLD
44	BH71	Num	8	344	BURNING, PRICKLING OR TINGLING IN H
45	BH72	Num	8	352	FLUSHING
46	BH73	Num	8	360	DRY MOUTH
47	BH74	Num	8	368	SUDDEN LOSS OF HAIR
48	BH75	Num	8	376	RASH
49	BH76	Num	8	384	DECREASE IN SEXUAL ACTIVITY
50	BH77	Num	8	392	CURRENTLY EMPLOYED OR PRIOR TO HOSP
51	BH78	Num	8	400	IF NOT EMPLOYED, IS FOR MEDICAL REA
52	BH79	Num	8	408	WORK PHYSICAL ACTIVITY PRIOR TO HOS
53	BH80	Num	8	416	NON-WORK PHYSICAL ACTIV PRIOR TO HO
54	BH81	Num	8	424	PRIOR TO HOSPITALIZ FORCED TO BE LE
55	BH82	Num	8	432	HAVE YOU EVER SMOKED CIGARETTES
56	BH83	Num	8	440	HOW MANY YEARS SMOKED CIGARETTES
57	BH84	Num	8	448	AVERAGE NO. OF CIGARETTES PER DAY
58	BH85	Num	8	456	PRIOR HOSPITALIZ DID STILL SMOKE CI
59	BH86	Num	8	464	HOW LONG AGO DID YOU STOP SMOKING C
60	BH87	Num	8	472	YEAR PRIOR HOSPITALIZ DID YOU SMOKE
61	BH88	Num	8	480	YEAR PRIOR HOSPITALIZ DID YOU SMOKE
62	BH89	Num	8	488	YEAR PRIOR HOSPITALIZ DRINK BEER WI
63	BH90	Num	8	496	IS YOUR MOTHER ALIVE
64	BH91	Num	8	504	AGE OF MOTHER AT DEATH
65	BH92	Num	8	512	CAUSE OF MOTHERS AT DEATH
66	BH93	Num	8	520	IS YOUR FATHER ALIVE
67	BH94	Num	8	528	AGE OF FATHER AT DEATH
68	BH95	Num	8	536	CAUSE OF FATHERS DEATH
69	BH96	Num	8	544	HIGHEST GRADE OR YEAR OF SCHOOL COM
70	BH97	Num	8	552	WHAT IS YOUR CURRENT MARITAL STATUS
71	BH98	Num	8	560	SYSTOLIC BLOOD PRESSURE, MM HG
72	BH99	Num	8	568	DIASTOLIC BLOOD PRESSURE, MM HG
73	BH100	Num	8	576	HEART RATE, BEATS/MINUTE
74	BH101	Num	8	584	CARDIOGENIC SHOCK (OLIGURIA AND SYS
75	BH102	Num	8	592	PERSISTENT HYPOTENSION (SYSTOLIC <9
76 	BH103	Num	8	600	INCOMPLETE A-V BLOCK
77	BH104	Num	8	608	COMPLETE A-V BLOCK
78 70	BH105	Num	8	616	VENTRICULAR TACHYCARDIA (3 OR MORE
79	BH106	Num	8	624	VENTRICULAR FIBRILLATION
80	BH107	Num	8	632	PULMONARY EDEMA
81	BH108	Num	8	640	ATRIAL FIBRILLATION OR FLUTTER
82	BH109	Num	8	648	SYMPTOMS CHF REQUIRE DIGITALIS DIUR
83	BH110	Num	8	656 664	USE OF PROPRANALOL OR OTHER BETA-BL
84 05	BH111	Num	8	664 670	NITROGLYCERINE OR CORONARY VASODILL
85 96	BH112	Num	8	672	USE OF OTHER ANTIARRHYTHMICS
86 97	BH113	Num	8	680	USE OF NITROPRUSSIDE
87	BH114	Num	8	688	HEIGHT, INCHES
88	BH115	Num	8	696	WEIGHT, POUNDS

89	BH116	Num	8	704	RASH
90	BH117	Num	8	712	EXPIRATORY WHEEZES
91	BH118	Num	8	720	ABNORMAL NECK VENOUS DISTENSION PRE
92	BH119	Num	8	728	BASILAR RATES
93	BH120	Num	8	736	S3 GALLOP
94	BH121	Num	8	744	HEPATOMEGALY

The CONTENTS Procedure

#	Variable	Туре	Len	Pos	Label
95	BH122	Num	8	752	PERIPHERAL EDEMA
96	BH123	Num	8	760	EXAMINATION OF PULSES: RIGHT CAROTI
97	BH124	Num	8	768	EXAMINATION OF PULSES: LEFT CAROTID
98	BH125	Num	8	776	RIGHT FEMORAL
99	BH126	Num	8	784	LEFT FEMORAL
100	BH127	Num	8	792	RIGHT DORSAL PEDIS
101	BH128	Num	8	800	LEFT DORSAL PEDIS
102	BH129	Num	8	808	RIGHT POSTERIOR TIBIAL
103	BH130	Num	8	816	LEFT POSTERIOR TIBIAL
104	BH131	Num	8	824	HEMIPLEGIA
105	BH132	Num	8	832	GROSS HEMIPARESIS
106	BH133	Num	8	840	OPINION: PATIENT EXPERIENCED ANGINA
107	BH134	Num	8	848	OPINION: PATIENT EXPERIENCED CHF
108	BH135	Num	8	856	OPINION: PATIENT EXPERIENCED IC
109	BH136	Num	8	864	PATIENT TAKING ANTIARRHYTHMICS
110	BH137	Num	8	872	ANTICOAGULANTS
111	BH138	Num	8	880	ANTIHYPERTENSIVES EXCLUDING DIURETI
112	BH139	Num	8	888	ASPIRIN PRESCRIBED CONTINUING BASIS
113	BH140	Num	8	896	DIGITALIS
114	BH141	Num	8	904	DIPYRIDAMOLE
115	BH142	Num	8	912	DIURETICS
116	BH143	Num	8	920	INSULIN
117	BH144	Num	8	928	LIPID-LOWERING AGENTS
118	BH145	Num	8	936	LONG-ACTING CORONARY VASODILATORS
119	BH146	Num	8	944	ORAL HYPOGLYCEMICS
120	BH147	Num	8	952	SULFINPYRAZONE
121	BH148	Num	8	960	OTHER CARDIOVASCULAR DRUGS NOT MENT

Observation Len

The CONTENTS Procedure

Data Set Name: IN3.CARDIAC Observations: Member Type: DATA Variables: Engine: **XPORT** Indexes:

11:53 Wednesday, December 8, 2004 Created:

Last Modified: 11:53 Wednesday, December 8, 2004 Deleted Observa Compressed: Protection: Sorted:

Data Set Type:

Label:

#	Variable	Туре	Len	Pos	Label
1	BH1	Num	8	0	RANDOM IDENTIFICATION NUMBER
2	BH533	Num	8	8	MI CLASSIFICATION
23	BH534	Num	8	176	DAYS FRM DT OF RAND TO ONSET SYMPTO
3	BH535	Num	8	16	TAKING MEDICATION AT TIME: DIGITALI
4	BH536	Num	8	24	TAKING QUINIDINE AND/OR PROCIANAMID
5	BH537	Num	8	32	TAKING DIURETICS
6	BH538	Num	8	40	TAKING POTASSIUM
7	BH539	Num	8	48	WAS PATIENT HOPITALIZED DURING EVEN
24	BH540	Num	8	184	DAYS FROM DATE OF RAND TO DATE OF H
8	BH541	Num	8	56	COMPLICATION WITH EVENT: CARDIOGEN
9	BH542	Num	8	64	COMPLICATION: PERSISTENT HYPOTENSIO
10	BH543	Num	8	72	COMPLICATION: INCOMPLETE A-V BLOCK
11	BH544	Num	8	80	COMPLICATION: COMPLETE A-V BLOCK
12	BH545	Num	8	88	COMPLICATION: VENTRICULAR TACHYCARD
13	BH546	Num	8	96	COMPLICATION: VENTRICULAR FIBRIL OF
14	BH547	Num	8	104	COMPLICATION: CONGESTIVE HEART FAIL
15	BH548	Num	8	112	COMPLICATION: NEW ONSET ARTIAL FIB
16	BH549	Num	8	120	DEATH
17	BH550	Num	8	128	SGOT ELEVATED
18	BH551	Num	8	136	CPK ELEVATED
19	BH552	Num	8	144	CPK-MB ELEVATED
20	BH553	Num	8	152	LDH ELEVATED
21	BH554	Num	8	160	HBD ELEVATED
22	BH555	Num	8	168	SYMPTIOMS DURING PRESENT EVENT: DIS

Data Set Name: IN4.CHF

Member Type: DATA

Engine: XPORT

Observations:
Variables:
Indexes:

Created: 11:53 Wednesday, December 8, 2004 Observation Len Last Modified: 11:53 Wednesday, December 8, 2004 Deleted Observa

Protection:

Data Set Type:

Compressed:

Sorted:

Label:

#	Variable	Туре	Len	Pos	Label
1	BH1	Num	8	0	RANDOM IDENTIFICATION NUMBER
2	BH556	Num	8	8	COMPUTER ALGORITHM CLASSIFICATION
17	BH557	Num	8	128	DAYS FRM DT OF RAND TO DT OF ONSET
3	BH558	Num	8	16	ABNORMAL VENOUS DISTENSION PRESENT
4	BH559	Num	8	24	BASILAR RALES
5	BH560	Num	8	32	S3 GALLOP
6	BH561	Num	8	40	HEPATOMEGALY
7	BH562	Num	8	48	PERIPHERAL EDEMA
8	BH563	Num	8	56	INCREASED SHORTNESS OF BREATH/FATIQ
9	BH564	Num	8	64	CHEST X-RAY: CARDIOMEGALY
10	BH565	Num	8	72	CHEST X-RAY: INCREASE PULMONARY VAS
11	BH566	Num	8	80	WAS PATIENT IN PULMONARY EDEMA
12	BH567	Num	8	88	WAS PATIENT HOSPITALIZED
18	BH568	Num	8	136	DAYS FRM DT OF RAND TO DT OF HOSPIT
13	BH569	Num	8	96	ADMISSION BODY WEIGHT, LBS
14	BH570	Num	8	104	DISCHARGE BODY WEIGHT, LBS
15	BH571	Num	8	112	WAS DIGITALIS NEWLY PRESCRIBED FOR
16	BH572	Num	8	120	WERE DIURETICS NEWLY PRESCRIBED FOR

Data Set Name: IN5.CLINICAL Observations: Member Type: DATA Variables: Engine: **XPORT** Indexes:

11:53 Wednesday, December 8, 2004 Created: Observation Len

Last Modified: 11:53 Wednesday, December 8, 2004 Deleted Observa Compressed: Protection: Sorted:

Data Set Type:

Label:

#	Variable	Туре	Len	Pos	Label
1	BH1	Num	8	0	RANDOM IDENTIFICATION NUMBER
2	BH149	Num	8	8	BASELINE FORM PRESENT
3	BH150	Num	8	16	FIRST ANNUAL FORM PRESENT
4	BH151	Num	8	24	SECOND ANNUAL FORM PRESENT
5	BH152	Num	8	32	THIRD ANNUAL FORM PRESENT
6	BH154	Num	8	40	WHITE BLOOD CELL COUNT, PER MM**3
7	BH155	Num	8	48	HEMATOCRIT, %
8	BH156	Num	8	56	RESULTS OF URINALYSIS: GLUCOSE
9	BH157	Num	8	64	RESULTS OF URINALYSIS: KEYSTONES
10	BH158	Num	8	72	RESULTS OF URINALYSIS: BILIRUBIN
11	BH159	Num	8	80	RESULTS OF URINALYSIS: BLOOD
12	BH160	Num	8	88	RESULTS OF URINALYSIS: PROTEIN
13	BH161	Num	8	96	RESULTS OF URINALYSIS: PH (CLOSEST
14	BH162	Num	8	104	THORACIC RATIO, %
15	BH163	Num	8	112	CARDIOMEGALY
16	BH165	Num	8	120	WHITE BLOOD CELL COUNT, PER MM**3
17	BH166	Num	8	128	HEMATOCRIT, %
18	BH167	Num	8	136	RESULTS OF URINALYSIS: GLUCOSE
19	BH168	Num	8	144	RESULTS OF URINALYSIS: KEYSTOMES
20	BH169	Num	8	152	RESULTS OF URINALYSIS: BILIRUBIN
21	BH170	Num	8	160	RESULTS OF URINALYSIS: BLOOD
22	BH171	Num	8	168	RESULTS OF URINALYSIS: PROTEIN
23	BH172	Num	8	176	RESULTS OF URINALYSIS: PH (CLOSEST
24	BH173	Num	8	184	THORACIC RATIO, %
25	BH174	Num	8	192	CARDIOMEGALY
26	BH176	Num	8	200	WHITE BLOOD CELL COUNT, PER MM**3
27	BH177	Num	8	208	HEMATOCRIT, %
28	BH178	Num	8	216	RESULTS OF URINALYSIS: GLUCOSE
29	BH179	Num	8	224	RESULTS OF URINALYSIS: KEYSTONES
30	BH180	Num	8	232	RESULTS OF URINALYSIS: BILIRUBIN
31	BH181	Num	8	240	RESULTS OF URINALYSIS: BLOOD
32	BH182	Num	8	248	RESULTS OF URINALYSIS: PROTEIN
33	BH183	Num	8	256	RESULTS OF URINALYSIS: PH (CLOSEST
34	BH184	Num	8	264	THORACIC RATIO, %
35	BH185	Num	8	272	CARDIOMEGALY
36	BH187	Num	8	280	WHITE BLOOD CELL COUNT, PER MM**3

37	BH188	Num	8	288	HEMATOCRIT, %
38	BH189	Num	8	296	RESULTS OF URINALYSIS: GLUCOSE
39	BH190	Num	8	304	RESULTS OF URINALYSIS: KEYSTONES
40	BH191	Num	8	312	RESULTS OF URINALYSIS: BILIRUBIN
41	BH192	Num	8	320	RESULTS OF URINALYSIS: BLOOD
42	BH193	Num	8	328	RESULTS OF URINALYSIS: PROTEIN

#	Variable	Type	Len	Pos	Label
43	BH194	Num	8	336	RESULTS OF URINALYSIS: PH (CLOSEST
44	BH195	Num	8	344	THORACIC RATIO, %
45	BH196	Num	8	352	CARDIOMEGALY

Data Set Name: IN6.ECG

Member Type: DATA

Engine: XPORT

Observations:
Variables:
Indexes:

Created: 11:53 Wednesday, December 8, 2004 Observation Leng Last Modified: 11:53 Wednesday, December 8, 2004 Deleted Observat

Protection: Compressed: Data Set Type: Sorted:

Label:

		•			
#	Variable	Туре	Len	Pos	Label
1	BH1	Num	8	0	RANDOM IDENTIFICATION NUMBER
2	BH591	Num	8	8	BASELINE FORM PRESENT
3	BH592	Num	8	16	FIRST ANNUAL FORM PRESENT
4	BH593	Num	8	24	SECOND ANNAUL FORM PRESENT
5	BH594	Num	8	32	THIRD ANNUAL FORM PRESENT
6	BH596	Num	8	40	HEART RATE (PER MINUTE)
7	BH597	Num	8	48	QRS AXIS (+ OR -)
8	BH598	Num	8	56	MAX R HEIGHT (MMS) LEAD I, II, III
9	BH599	Num	8	64	MAX R HEIGHT (MMS) LEAD V4, V5, V6
10	BH600	Num	8	72	MAX S DEPTH (MMS) LEAD I, II, III
11	BH601	Num	8	80	MAX S DEPTH (MMS) LEAD V1, V2, V3
12	BH602	Num	8	88	T HEIGHT (MMS) (+ OR -)
13	BH603	Num	8	96	QX DURATION (SECONDS)
14	BH604	Num	8	104	QT DURATION (SECONDS)
15	BH605	Num	8	112	Q AND QS PATTERNS (1-X-X)LATERAL L
16	BH606	Num	8	120	Q AND QS PATTERNS (1-X-X)INFERIOR
17	BH607	Num	8	128	Q AND QS PATTERNS (1-X-X)ANTERIOR
18	BH608	Num	8	136	ST JUNCTN & SEGMNT DEPRES(4-X-X)LA
19	BH609	Num	8	144	ST JUNCTN & SEGMNT DEPRES(4-X-X)IN
20	BH610	Num	8	152	ST JUNCTN & SEGMNT DEPRES(4-X-X)AN
21	BH611	Num	8	160	T WAVE CHANGES (5-X) LATERAL LEADS
22	BH612	Num	8	168	T WAVE CHANGES (5-X) INFERIOR LEAD
23	BH613	Num	8	176	T WAVE CHANGES (5-X) ANTERIOR LEAD
24	BH614	Num	8	184	ST SEGMENT ELEVATION (9-2) LATERAL
25	BH615	Num	8	192	ST SEGMENT ELEVATION (9-2) INFERIO
26	BH616	Num	8	200	ST SEGMENT ELEVATION (9-2) ANTERIO
27	BH617	Num	8	208	HIGH AMPLITUDE R WAVES (3-X)
28	BH618	Num	8	216	AV CONDUCTION DEFECT (6-X)
29	BH619	Num	8	224	VENTRICULAR CONDUCTION DEFECT (7-X
30	BH620	Num	8	232	ESTES CODE
31	BH621	Num	8	240	ARRHYTHMIAS 8-1-X
32	BH622	Num	8	248	ARRHYTHMIAS 8-2-X
33	BH623	Num	8	256	ARRHYTHMIAS 8-3-X
34	BH624	Num	8	264	ARRHYTHMIAS 8-4-X
35	BH625	Num	8	272	ARRHYTHMIAS 8-5-X
36	BH626	Num	8	280	ARRHYTHMIAS 8-6-X

37	BH627	Num	8	288	ECTOPIC CODES SVPB
38	BH628	Num	8	296	ECTOPIC CODES VPB
39	BH629	Num	8	304	ECTOPIC CODES RUNS, BIGEMINY
40	BH630	Num	8	312	ECTOPIC CODES MULTIFORMS
41	BH631	Num	8	320	ECTOPIC CODES T-R INTERVAL
42	BH633	Num	8	328	HEART RATE (PER MINUTE)

#	Variable	Туре	Len	Pos	Label
43	BH634	Num	8	336	QRS AXIS (+ OR -)
44	BH635	Num	8	344	MAX R HEIGHT (MMS) LEAD I, II, III
45	BH636	Num	8	352	MAX R HEIGHT (MMS) LEAD V4, V5, V6
46	BH637	Num	8	360	MAX S DEPTH (MMS) LEAD I, II, III
47	BH638	Num	8	368	MAX S DEPTH (MMS) V1, V2, V3
48	BH639	Num	8	376	T HEIGHT (MMS) (+ OR -)
49	BH640	Num	8	384	OX DURATION (SECONDS)
50	BH641	Num	8	392	QT DURATION (SECONDS)
51	BH642	Num	8	400	Q AND QS PATTERNS (1-X-X) LATERAL
52	BH643	Num	8	408	Q AND QS PATTERNS (1-X-X) INFERIOR
53	BH644	Num	8	416	Q AND QS PATTERNS (1-X-X) ANTERIOR
54	BH645	Num	8	424	ST JUNCTION AND SEGMENT DEP (4-X-X
55	BH646	Num	8	432	ST JUNCTION AND SEGMENT DEP (4-X-X
56	BH647	Num	8	440	ST JUNCTION AND SEGMENT DEP (4-X-X
57	BH648	Num	8	448	T WAVE CHANGES (5-X) LATERAL LEADS
58	BH649	Num	8	456	T WAVE CHANGES (5-X) INFERIOR LEAD
59	BH650	Num	8	464	T WAVE CHANGES (5-X) ANTERIOR LEAD
60	BH651	Num	8	472	ST SEGMENT ELEVATION (9-2) LATERAL
61	BH652	Num	8	480	ST SEGMENT ELEVATION (9-2) INFERIO
62	BH653	Num	8	488	ST SEGMENT ELEVATION (9-2) ANTERIO
63	BH654	Num	8	496	HIGH AMPLITUDE R WAVES (3-X)
64	BH655	Num	8	504	AV CONDUCTION DEFECT (6-X)
65	BH656	Num	8	512	VENTRICULAR CONDUCTION DEFECT (7-X
66	BH657	Num	8	520	ESTES CODE
67	BH658	Num	8	528	ARRHYTHMIAS 8-1-X
68	BH659	Num	8	536	ARRHYTHMIAS 8-2-X
69	BH660	Num	8	544	ARRHYTHMIAS 8-3-X
70	BH661	Num	8	552	ARRHYTHMIAS 8-4-X
71	BH662	Num	8	560	ARRHYTHMIAS 8-5-X
72	BH663	Num	8	568	ARRHYTHMIAS 8-6-X
73	BH664	Num	8	576	ECTOPIC CODES: SVPB
74	BH665	Num	8	584	ECTOPIC CODES: VPB
75	BH666	Num	8	592	ECTOPIC CODES: RUN, BIGEMINY
76	BH667	Num	8	600	ECTOPIC CODES: MULTIFORMS
77	BH668	Num	8	608	ECTOPIC CODES: T-R INTERVAL
78	BH670	Num	8	616	HEART RATE (PER MINUTE)
79	BH671	Num	8	624	QRS AXIS (+ OR -)
80	BH672	Num	8	632	MAX R HEIGHT (MMS): LEAD I, II, II
81	BH673	Num	8	640	MAX R HEIGHT (MSS): LEAD V4, V5, V
82	BH674	Num	8	648	MAX S DEPTH (MMS): LEAD I, II, III
83	BH675	Num	8	656	MAX S DEPTH (MMS): LEAD V1, V2, V3
84	BH676	Num	8	664	T HEIGHT (MMS)(+OR -)
85	BH677	Num	8	672	QX DURATION (SECONDS)
86	BH678	Num	8	680	QT DURATION (SECONDS)
87	BH679	Num	8	688	Q AND QS PATTERNS (1-X-X) LATERAL
88	BH680	Num	8	696	Q AND QS PATTERNS (1-X-X) INFERIOR

89	BH681	Num	8	704	Q AND QS PATTERNS (1-X-X) ANTERIOR
90	BH682	Num	8	712	ST JUNCTION AND SEGMENT DEP (4-X-X
91	BH683	Num	8	720	ST JUNCTION AND SEGMENT DEP (4-X-X
92	BH684	Num	8	728	ST JUNCTION AND SEGMENT DEP (4-X-X
93	BH685	Num	8	736	T WAVE CHANGES (5-X) LATERAL LEADS
94	BH686	Num	8	744	T WAVE CHANGES (5-X) INFERIOR LEAD

#	Variable	Туре	Len	Pos	Label
95	BH687	Num	8	752	T WAVE CHANGES (5-X) ANTERIOR LEAD
96	BH688	Num	8	760	ST SEGMENT ELEVATION (9-2) LATERAL
97	BH689	Num	8	768	ST SEGMENT ELEVATION (9-2) INFERIO
98	BH690	Num	8	776	ST SEGMENT ELEVATION (9-2) ANTERIO
99	BH691	Num	8	784	HIGH AMPLITUDE R WAVES (3-X)
100	BH692	Num	8	792	AV CONDUCTION DEFECT (6-X)
101	BH693	Num	8	800	VENTRICULAR CONDUCTION DEFECT (7-X
102	BH694	Num	8	808	ESTES CODE
103	BH695	Num	8	816	ARRHYTHMIAS 8-1-X
104	BH696	Num	8	824	ARRHYTHMIAS 8-2-X
105	BH697	Num	8	832	ARRHYTHMIAS 8-3-X
106	BH698	Num	8	840	ARRHYTHMIAS 8-4-X
107	BH699	Num	8	848	ARRHYTHMIAS 8-5-X
108	BH700	Num	8	856	ARRHYTHMIAS 8-6-X
109	BH701	Num	8	864	ECTOPIC CODES: SVPB
110	BH702	Num	8	872	ECTOPIC CODES: VPB
111	BH703	Num	8	880	ECTOPIC CODES: RUN, BIGEMINY
112	BH704	Num	8	888	ECTOPIC CODES: MULTIFORMS
113	BH705	Num	8	896	ECTOPIC CODES: T-R INTERVAL
114	BH707	Num	8	904	HEART RATE (PER MINUTE)
115	BH708	Num	8	912	QRS AXIS (+ OR -)
116	BH709	Num	8	920	MAX R HEIGHT (MMS): LEADI, II, III
117	BH710	Num	8	928	MAX R HEIGHT (MMS): LEAD V4, V5, V
118	BH711	Num	8	936	MAX S DEPTH (MMS): LEAD I, II, III
119	BH712	Num	8	944	MAX S DEPTH (MMS): LEAD V1, V2, V3
120	BH713	Num	8	952	T HEIGHT (MSS) (+OR -)
121	BH714	Num	8	960	QX DURATION (SECONDS)
122	BH715	Num	8	968	QT DURATION (SECONDS)
123	BH716	Num	8	976	Q AND QS PATTERNS (1-X-X) LATERAL
124	BH717	Num	8	984	Q AND QS PATTERNS (1-X-X) INFERIOR
125	BH718	Num	8	992	Q AND QS PATTERNS (1-X-X) ANTERIOR
126	BH719	Num	8	1000	ST JUNCTION AND SEGMENT DEP (4-X-X
127	BH720	Num	8	1008	ST JUNCTION AND SEGMENT DEP (4-X-X
128	BH721	Num	8	1016	ST JUNCTION AND SEGMENT DEP (4-X-X
129	BH722	Num	8	1024	T WAVE CHANGES (5-X) LATERAL LEADS
130	BH723	Num	8	1032	T WAVE CHANGES (5-X) INFERIOR LEAD
131	BH724	Num	8	1040	T WAVE CHANGES (5-X) ANTERIOR LEAD
132	BH725	Num	8	1048	ST SEGMENT ELEVATION (9-2) LATERAL
133	BH726	Num	8	1056	ST SEGMENT ELEVATION (9-2) INFERIO
134	BH727	Num	8	1064	ST SEGMENT ELEVATION (9-2) ANTERIO
135	BH728	Num	8	1072	HIGH AMPLITUDE R WAVES (3-X)
136	BH729	Num	8	1080	AV CONDUCTION DEFECT (6-X)
137	BH730	Num	8	1088	VENTRICULAR CONDUCTION DEFECT (7-X
138	BH731	Num	8	1096	ESTES CODE
139	BH732	Num	8	1104	ARRHYTHMIAS 8-1-X
140	BH733	Num	8	1112	ARRHYTHMIAS 8-2-X

141	BH734	Num	8	1120	ARRHYTHMIAS 8-3-X
142	BH735	Num	8	1128	ARRHYTHMIAS 8-4-X
143	BH736	Num	8	1136	ARRHYTHMIAS 8-5-X
144	BH737	Num	8	1144	ARRHYTHMIAS 8-6-X
145	BH738	Num	8	1152	ECTOPIC CODES: SVPB
146	BH739	Num	8	1160	ECTOPIC CODES: VPB

#	Variable	Туре	Len	Pos	Label
147	BH740	Num	8	1168	ECTOPIC CODES: RUN, BIGEMINY
148	BH741	Num	8	1176	ECTOPIC CODES: MULTIFORMS
149	BH742	Num	8	1184	ECTOPIC CODES: T-R INTERVAL

Data Set Name: IN7.FATAL Observations:

Member Type: DATA Variables:
Engine: XPORT Indexes:

Created: 11:53 Wednesday, December 8, 2004 Observation Len Last Modified: 11:53 Wednesday, December 8, 2004 Deleted Observa

Protection: Compressed: Sorted:

Label:

#	Variable	Туре	Len	Pos	Label
1	BH1	Num	8	0	RANDOM IDENTIFICATION NUMBER
2	BH763	Num	8	8	DID PATIENT DIE?
18	BH764	Num	8	136	DAYS FRM DT OF RAND TO LAST ALIVE O
3	BH765	Num	8	16	MOST IMPORTANT UNDERLYING CAUSE OF
4	BH766	Num	8	24	CONTRIBUTING UNDERLYING CAUSE OF DE
5	BH767	Num	8	32	MOST IMPORTANT IMMEDIAT MECHANISM O
6	BH768	Num	8	40	CONTRIBUTING IMMEDIAT MECHANISM OF
7	BH769	Num	8	48	DEATH: ATHEROSCLEROTIC, CARDIO, NON-C
8	BH770	Num	8	56	DEATH: SUDDEN, NOT SUDDEN
9	BH771	Num	8	64	INCIDENT DEFINITE NONFATAL RECURREN
19	BH772	Num	8	144	DAYS FROM DT OF RAND TO DT 1ST NONF
10	BH773	Num	8	72	DEFINITE/PROBABLE NONFATAL RECURREN
20	BH774	Num	8	152	DAYS FROM DT OF RAND TO DT 1ST PROB
11	BH775	Num	8	80	COMBO INCID DEF NONFATAL MI/ATHERO
21	BH776	Num	8	160	DAYS FROM DT OF RAND TO DT 1ST PROB
12	BH777	Num	8	88	INCIDENT DEFINTE CHF
22	BH778	Num	8	168	DAYS FROM DT OF RAND TO DT OF 1ST O
13	BH779	Num	8	96	INCIDENT DEFINITE OR PROBABLE CHF
23	BH780	Num	8	176	DAYS FROM DT OF RAND TO DT OF 1ST O
14	BH781	Num	8	104	INCIDENT ROSE QUESTIONAIRE ANGINA
24	BH782	Num	8	184	DAYS FROM DT OF RAND TO DT OF NOTE
15	BH783	Num	8	112	INCIDENT PHYSICIANS OPINION OF ANGI
25	BH784	Num	8	192	DAYS FROM DT OF RAND TO DT OF NOTE
16	BH785	Num	8	120	BY-PASS SURGERY DURING FOLLOW-UP PE
26	BH786	Num	8	200	DAYS FROM DT OF RAND TO DATE OF SUR
17	BH787	Num	8	128	CATHETERIZATION DURING FOLLOW-UP PE
27	BH788	Num	8	208	DAYS FROM DT OF RAND TO DATE OF CAT

Observations:

The CONTENTS Procedure

Data Set Name: IN8.FOLLOWUP

Member Type: DATA Variables: Engine: XPORT Indexes:

Created: 11:53 Wednesday, December 8, 2004 Observation Leng Last Modified: 11:53 Wednesday, December 8, 2004 Deleted Observat

Protection: Compressed: Sorted:

Label:

#	Variable	Туре	Len	Pos	Label
1	BH1	Num	8	0	RANDOM IDENTIFICATION NUMBER
2	BH197	Num	8	8	FIRST ANNUAL VISIT FORM PRESENT
3	BH198	Num	8	16	SECOND ANNUAL VISIT FORM PRESENT
4	BH199	Num	8	24	THIRD ANNUAL VISIT FORM PRESENT
335	BH200	Num	8	2672	DAYS FRM DATE OF RANDOM TO 1ST ANN
5	BH201	Num	8	32	ROSE QUESTIONAIRE ANGINA SINCE LAS
6	BH202	Num	8	40	DAYS PER WEEK HAVE PAIN OR DISCOMF
7	BH203	Num	8	48	PAIN DAYS - HOW MANY TIMES PER DAY
8	BH204	Num	8	56	WHEN PAIN OR DISCOMFORT HOW LONG D
9	BH205	Num	8	64	DID PAIN OR DISCOMFORT OCCUR: AT R
10	BH206	Num	8	72	DID PAIN OR DISCOMPORT OCCUR: AFTE
11	BH207	Num	8	80	SINCE MOST RECENT BHAT INTERVIEW:
12	BH208	Num	8	88	PAIN ACROSS FRONT OF CHEST LAST HA
13	BH209	Num	8	96	HOW LONG DID THIS PAIN LAST
14	BH210	Num	8	104	ACCOMPANIED SWEATING SHORT OF BREA
15	BH211	Num	8	112	DOCTOR SAY YOU HAD HEART ATTACK OR
16	BH212	Num	8	120	HOW MANY OF THE ATTACKS DID YOU HA
17	BH213	Num	8	128	SINCE LAST BHAT INTER SHORT OF BRE
18	BH214	Num	8	136	SHORT BREATH FROM WALKING LEVEL GR
19	BH215	Num	8	144	SHORT BREATH FROM CLIMBING 1 FLIGH
20	BH216	Num	8	152	SHORT BREATH FROM HEAVY LIFTING
21	BH217	Num	8	160	SHORT BREATH FROM HOUSEWORK OR REP
22	BH218	Num	8	168	SHORT BREATH LYING FLAT OR ONE PIL
23	BH219	Num	8	176	SHORT BREATH IMPROVE WHEN SAT UP O
24	BH220	Num	8	184	SHORT BREATH AWAKENED WHEN LYING A
25	BH221	Num	8	192	SINCE RECENT BHAT INTERVIEW: HOSPI
26	BH222	Num	8	200	NUMBER OF TIMES HOSPITALIZED
27	BH223	Num	8	208	SINCE RECENT INTERVIEW: CARDIAC CA
28	BH224	Num	8	216	SINCE RECENT INTERVIEW: DR TOLD HI
29	BH225	Num	8	224	SINCE RECENT INTERVIEW: DR TOLD LO
30	BH226	Num	8	232	SINCE RECENT INTERVIEW: DR TOLD DI
31	BH227	Num	8	240	SINCE RECENT INTERVIEW: CIRRHOSIS
32	BH228	Num	8	248	SINCE RECENT INTERVIEW: ASTHMA, EM
33	BH229	Num	8	256	SINCE RECENT INTERVIEW: STROKE
34	BH230	Num	8	264	SINCE RECENT INTERVIEW: DEVELOPED
35	BH231	Num	8	272	SINCE RECENT INTERVIEW: DEVELOPED

36	BH232	Num	8	280	SINCE RECENT INTERVIEW: OTHER COND
37	BH233	Num	8	288	SINCE RECENT INTERVIEW: BLACKING O
38	BH234	Num	8	296	SINCE RECENT INTERVIEW: DEPRESION
39	BH235	Num	8	304	SINCE RECENT INTERVIEW: TIREDNESS
40	BH236	Num	8	312	SINCE RECENT INTERVIEW: FREQ NIGHT
41	BH237	Num	8	320	SINCE RECENT INTERVIEW: HALLUCINAT

#	Variable	Туре	Len	Pos	Label
42	BH238	Num	8	328	SINCE RECENT INTERVIEW: RECUR BRON
43	BH239	Num	8	336	SINCE RECENT INTERVIEW: DECREASE S
44	BH240	Num	8	344	SINCE RECENT INTERVIEW: HEALTH CHA
45	BH241	Num	8	352	SINCE RECENT INTERVIEW: FAINTNESS
46	BH242	Num	8	360	SINCE RECENT INTERVIEW: HRT BEATIN
47	BH243	Num	8	368	SINCE RECENT INTERVIEW: BLURRED VI
48	BH244	Num	8	376	SINCE RECENT INTERVIEW: INSOMNIA W
49	BH245	Num	8	384	SINCE RECENT INTERVIEW: NAUSEA VOM
50	BH246	Num	8	392	SINCE RECENT INTERVIEW: ABDOMINAL
51	BH247	Num	8	400	SINCE RECENT INTERVIEW: RECUR DIAR
52	BH248	Num	8	408	SINCE RECENT INTERVIEW: RECUR CONS
53	BH249	Num	8	416	SINCE RECENT INTERVIEW: COLD HANDS
54	BH250	Num	8	424	SINCE RECENT INTERVIEW: BURN TINGL
55	BH251	Num	8	432	SINCE RECENT INTERVIEW: FLUSHING
56	BH252	Num	8	440	SINCE RECENT INTERVIEW: DRY MOUTH
57	BH253	Num	8	448	SINCE RECENT INTERVIEW: SUDDEN HAI
58	BH254	Num	8	456	SINCE RECENT INTERVIEW: RASH
59	BH255	Num	8	464	SINCE RECENT INTERVIEW: DRYNESS OF
60	BH256	Num	8	472	SINCE RECENT INTERVIEW: FEEL BETTE
61	BH257	Num	8	480	CURRENTLY WORKING AT YOUR OCCUPATI
62	BH258	Num	8	488	IF NOT EMPLOYED, IS FOR MEDICAL RE
63	BH259	Num	8	496	SINCE RECENT INTERVIEW: THINK WORK
64	BH260	Num	8	504	SINCE RECENT INTERVIEW: THINK OTHE
65	BH261	Num	8	512	SINCE RECENT INTERVIEW: CIGARETTES
66	BH262	Num	8	520	HAVE USUALLY BEEN SMOKING: PIPE
67	BH263	Num	8	528	HAVE USUALLY BEEN SMOKING: CIGARS
68	BH264	Num	8	536	SINCE RECENT:DAYS PER WEEK BEER WI
69	BH265	Num	8	544	SINCE RECENT INTERVIEW: MARITAL ST
70	BH266	Num	8	552	WHAT IS YOUR CURRENT MARITAL STATU
71	BH267	Num	8	560	WEIGHT, POUNDS
72	BH268	Num	8	568	HEART RATE, BEATS/MINUTE
73	BH269	Num	8	576	•
74	BH270	Num	8	584	DIASTOLIC BLOOD PRESSURE, MM HG
75	BH271	Num	8	592	RASH
76	BH272	Num	8	600	EXPIRATORY WHEEZES
77	BH273	Num	8	608	ABNORMAL NECK VENOUS DISTENSION PR
78	BH274	Num	8	616	BASILAR RALES
79	BH275	Num	8	624	53 GALLOP
80	BH276	Num	8	632	HEPATOMEGALY
81	BH277	Num	8	640	PERIPHERAL EDEMA
82	BH278	Num	8	648	EXAMINATION OF PULSES: RIGHT CAROT
83	BH279	Num	8	656	EXAMINATION OF PULSES: LEFT CAROTI
84	BH280	Num	8	664	EXAMINATION OF PULSES: RIGHT FEMOR
85	BH281	Num	8	672	EXAMINATION OF PULSES: LEFT FEMORA
86	BH282	Num	8	680	EXAMINATION OF PULSES: RIGHT DORSA
87	BH283	Num	8	688	EXAMINATION OF PULSES: LEFT DORSAL

88	BH284	Num	8	696	EXAMINATION OF PULSES: R POSTERIOR
89	BH285	Num	8	704	EXAMINATION OF PULSES: L POSTERIOR
90	BH286	Num	8	712	HEMIPLEGIA
91	BH287	Num	8	720	GROSS HEMIPARESIS
92	BH288	Num	8	728	SINCE LAST EXAM: OPINION ANGINA PE
93	BH289	Num	8	736	COMPARE TO LAST EXAM:DR OPINION AN

#	Variable	Туре	Len	Pos	Label
94	BH290	Num	8	744	SINCE LAST EXAM: OPINION CONG HEAR
95	BH291	Num	8	752	SINCE LAST EXAM: INTERMITTENT CLAU
96	BH292	Num	8	760	NEW YORK HEART ASSOCIATION CLASSIF
97	BH293	Num	8	768	CURRENTLY TAKING AMPHETAMINES
98	BH294	Num	8	776	CURRENTLY TAKING ANTIARRHYTHMICS
99	BH295	Num	8	784	CURRENTLY TAKING ANTICOAGULANTS
100	BH296	Num	8	792	CURRENTLY TAKING ANTIHYPERTEN EXC
101	BH297	Num	8	800	CURRENTLY TAKING ASPIRIN PRES CONT
102	BH298	Num	8	808	CURRENTLY TAKING DIGITALIS
103	BH299	Num	8	816	CURRENTLY TAKING DIPYRIDAMOLE
104	BH300	Num	8	824	CURRENTLY TAKING DIURETICS
105	BH301	Num	8	832	CURRENTLY TAKING HORMONAL MEDICATI
106	BH302	Num	8	840	CURRENTLY TAKING INSULIN
107	BH303	Num	8	848	CURRENTLY TAKING LIPID-LOWERING AG
108	BH304	Num	8	856	CURRENTLY TAKING LONG-ACT CORONARY
109	BH305	Num	8	864	CURRENTLY TAKING MAO INHIBITORS
110	BH306	Num	8	872	CURRENTLY TAKING ORAL HYPOGLYCEMIC
111	BH307	Num	8	880	CURRENTLY TAKING POTASSIUM
112	BH308	Num	8	888	CURRENTLY TAKING SULFINPYRAZONE
113	BH309	Num	8	896	CURRENTLY TAKING TRANQUILIZERS
114	BH310	Num	8	904	CURRENTLY TAKING OTHER CARDIOVAS P
336	BH311	Num	8	2680	DAYS FRM DT OF RAND TO 2ND ANN FOL
115	BH312	Num	8	912	ROSE QUESTIONAIRE ANGINA SINCE LAS
116	BH313	Num	8	920	DAYS PER WEEK HAVE PAIN OR DISCOMF
117	BH314	Num	8	928	PAIN DAYS - HOW MANY TIMES PER DAY
118	BH315	Num	8	936	WHEN PAIN OR DISCOMFORT HOW LONG D
119	BH316	Num	8	944	DID PAIN OR DISCOMFORT OCCUR: AT R
120	BH317	Num	8	952	DID PAIN OR DISCOMPORT OCCUR: AFTE
121	BH318	Num	8	960	SINCE MOST RECENT BHAT INTERVIEW:
122	BH319	Num	8	968	PAIN ACROSS FRONT OF CHEST LAST HA
123	BH320	Num	8	976	HOW LONG DID THIS PAIN LAST
124	BH321	Num	8	984	ACCOMPANIED SWEATING SHORT OF BREA
125	BH322	Num	8	992	DOCTOR SAY YOU HAD HEART ATTACK OR
126	BH323	Num	8	1000	HOW MANY OF THE ATTACKS DID YOU HA
127	BH324	Num	8	1008	SINCE LAST BHAT INTER SHORT OF BRE
128	BH325	Num	8	1016	SHORT BREATH FROM WALKING LEVEL GR
129	BH326	Num	8	1024	SHORT BREATH FROM CLIMBING 1 FLIGH
130	BH327	Num	8	1032	SHORT BREATH FROM HEAVY LIFTING
131	BH328	Num	8	1040	SHORT BREATH FROM HOUSEWORK OR REP
132	BH329	Num	8	1048	SHORT BREATH LYING FLAT OR ONE PIL
133	BH330	Num	8	1056	SHORT BREATH IMPROVE WHEN SAT UP O
134	BH331	Num	8	1064	SHORT BREATH AWAKENED WHEN LYING A
135	BH332	Num	8	1072	SINCE RECENT BHAT INTERVIEW: HOSPI
136	BH333	Num	8	1080	NUMBER OF TIMES HOSPITALIZED
137	BH334	Num	8	1088	SINCE RECENT INTERVIEW: CARDIAC CA
138	BH335	Num	8	1096	SINCE RECENT INTERVIEW: DR TOLD HI

139	BH336	Num	8	1104	SINCE RECENT INTERVIEW: DR TOLD LO
140	BH337	Num	8	1112	SINCE RECENT INTERVIEW: DR TOLD DI
141	BH338	Num	8	1120	SINCE RECENT INTERVIEW: CIRRHOSIS
142	BH339	Num	8	1128	SINCE RECENT INTERVIEW: ASTHMA, EM
143	BH340	Num	8	1136	SINCE RECENT INTERVIEW: STROKE
144	BH341	Num	8	1144	SINCE RECENT INTERVIEW: DEVELOPED

The CONTENTS Procedure

#	Variable	Туре	Len	Pos	Label
145	BH342	Num	8	1152	SINCE RECENT INTERVIEW: DEVELOPED
146	BH343	Num	8	1160	SINCE RECENT INTERVIEW: OTHER COND
147	BH344	Num	8	1168	SINCE RECENT INTERVIEW: BLACKING O
148	BH345	Num	8	1176	SINCE RECENT INTERVIEW: DEPRESION
149	BH346	Num	8	1184	SINCE RECENT INTERVIEW: TIREDNESS
150	BH347	Num	8	1192	SINCE RECENT INTERVIEW: FREQ NIGHT
151	BH348	Num	8	1200	SINCE RECENT INTERVIEW: HALLUCINAT
152	BH349	Num	8	1208	SINCE RECENT INTERVIEW: RECUR BRON
153	BH350	Num	8	1216	SINCE RECENT INTERVIEW: DECREASE S
154	BH351	Num	8	1224	SINCE RECENT INTERVIEW: HEALTH CHA
155	BH352	Num	8	1232	SINCE RECENT INTERVIEW: FAINTNESS
156	BH353	Num	8	1240	SINCE RECENT INTERVIEW: HRT BEATIN
157	BH354	Num	8	1248	SINCE RECENT INTERVIEW: BLURRED VI
158	BH355	Num	8	1256	SINCE RECENT INTERVIEW: INSOMNIA W
159	BH356	Num	8	1264	SINCE RECENT INTERVIEW: NAUSEA VOM
160	BH357	Num	8	1272	SINCE RECENT INTERVIEW: ABDOMINAL
161	BH358	Num	8	1280	SINCE RECENT INTERVIEW: RECUR DIAR
162	BH359	Num	8	1288	SINCE RECENT INTERVIEW: RECUR CONS
163	BH360	Num	8	1296	SINCE RECENT INTERVIEW: COLD HANDS
164	BH361	Num	8	1304	SINCE RECENT INTERVIEW: BURN TINGL
165	BH362	Num	8	1312	SINCE RECENT INTERVIEW: FLUSHING
166	BH363	Num	8	1320	SINCE RECENT INTERVIEW: DRY MOUTH
167	BH364	Num	8	1328	SINCE RECENT INTERVIEW: SUDDEN HAI
168	BH365	Num	8	1336	SINCE RECENT INTERVIEW: RASH
169	BH366	Num	8	1344	SINCE RECENT INTERVIEW: DRYNESS OF
170	BH367	Num	8	1352	SINCE RECENT INTERVIEW: FEEL BETTE
171	BH368	Num	8	1360	CURRENTLY WORKING AT YOUR OCCUPATI
172	BH369	Num	8	1368	IF NOT EMPLOYED, IS FOR MEDICAL RE
173	BH370	Num	8	1376	SINCE RECENT INTERVIEW: THINK WORK
174	BH371	Num	8	1384	SINCE RECENT INTERVIEW: THINK OTHE
175	BH372	Num	8	1392	SINCE RECENT INTERVIEW: CIGARETTES
176	BH373	Num	8	1400	HAVE USUALLY BEEN SMOKING: PIPE
177	BH374	Num	8	1408	HAVE USUALLY BEEN SMOKING: CIGARS
178	BH375	Num	8	1416	SINCE RECENT: DAYS PER WEEK BEER WI
179	BH376	Num	8	1424	SINCE RECENT INTERVIEW: MARITAL ST
180	BH377	Num	8	1432	WHAT IS YOUR CURRENT MARITAL STATU
181	BH378	Num	8	1440	WEIGHT, POUNDS
182	BH379	Num	8	1448	HEART RATE, BEATS/MINUTE
183	BH380	Num	8	1456	SYSTOLIC BLOOD PRESSURE, MM HG
184	BH381	Num	8	1464	EXAMINATION OF PULSES: RIGHT FEMOR
185	BH382	Num	8	1472	RASH
186	BH383	Num	8	1480	EXPIRATORY WHEEZES
187	BH384	Num	8	1488	ABNORMAL NECK VENOUS DISTENSION PR
188	BH385	Num	8	1496	BASILAR RALES
189	BH386	Num	8	1504	53 GALLOP
190	BH387	Num	8	1512	HEPATOMEGALY

191	BH388	Num	8	1520	PERIPHERAL EDEMA
192	BH389	Num	8	1528	EXAMINATION OF PULSES: RIGHT CAROT
193	BH390	Num	8	1536	EXAMINATION OF PULSES: LEFT CAROTI
194	BH391	Num	8	1544	
195	BH392	Num	8	1552	EXAMINATION OF PULSES: LEFT FEMORA
196	BH393	Num	8	1560	EXAMINATION OF PULSES: RIGHT DORSA

#	Variable	Туре	Len	Pos	Label
197	BH394	Num	8	1568	EXAMINATION OF PULSES: LEFT DORSAL
198	BH395	Num	8	1576	EXAMINATION OF PULSES: R POSTERIOR
199	BH396	Num	8	1584	EXAMINATION OF PULSES: L POSTERIOR
200	BH397	Num	8	1592	HEMIPLEGIA
201	BH398	Num	8	1600	GROSS HEMIPARESIS
202	BH399	Num	8	1608	SINCE LAST EXAM: OPINION ANGINA PE
203	BH400	Num	8	1616	COMPARE TO LAST EXAM:DR OPINION AN
204	BH401	Num	8	1624	SINCE LAST EXAM: OPINION CONG HEAR
205	BH402	Num	8	1632	SINCE LAST EXAM: INTERMITTENT CLAU
206	BH403	Num	8	1640	NEW YORK HEART ASSOCIATION CLASSIF
207	BH404	Num	8	1648	CURRENTLY TAKING AMPHETAMINES
208	BH405	Num	8	1656	CURRENTLY TAKING ANTIARRHYTHMICS
209	BH406	Num	8	1664	CURRENTLY TAKING ANTICOAGULANTS
210	BH407	Num	8	1672	CURRENTLY TAKING ANTIHYPERTEN EXC
211	BH408	Num	8	1680	CURRENTLY TAKING ASPIRIN PRES CONT
212	BH409	Num	8	1688	CURRENTLY TAKING DIGITALIS
213	BH410	Num	8	1696	CURRENTLY TAKING DIPYRIDAMOLE
214	BH411	Num	8	1704	CURRENTLY TAKING DIURETICS
215	BH412	Num	8	1712	CURRENTLY TAKING HORMONAL MEDICATI
216	BH413	Num	8	1720	CURRENTLY TAKING INSULIN
217	BH414	Num	8	1728	CURRENTLY TAKING LIPID-LOWERING AG
218	BH415	Num	8	1736	CURRENTLY TAKING LONG-ACT CORONARY
219	BH416	Num	8	1744	CURRENTLY TAKING MAO INHIBITORS
220	BH417	Num	8	1752	CURRENTLY TAKING ORAL HYPOGLYCEMIC
221	BH418	Num	8	1760	CURRENTLY TAKING POTASSIUM
222	BH419	Num	8	1768	CURRENTLY TAKING SULFINPYRAZONE
223	BH420	Num	8	1776	CURRENTLY TAKING TRANQUILIZERS
224	BH421	Num	8	1784	CURRENTLY TAKING OTHER CARDIOVAS P
337	BH422	Num	8	2688	DAYS FRM DT OF RAND TO 3RD ANN FOL
225	BH423	Num	8	1792	ROSE QUESTIONAIRE ANGINA SINCE LAS
226	BH424	Num	8	1800	DAYS PER WEEK HAVE PAIN OR DISCOMF
227	BH425	Num	8	1808	PAIN DAYS - HOW MANY TIMES PER DAY
228	BH426	Num	8	1816	WHEN PAIN OR DISCOMFORT HOW LONG D
229	BH427	Num	8	1824	DID PAIN OR DISCOMFORT OCCUR: AT R
230	BH428	Num	8	1832	DID PAIN OR DISCOMPORT OCCUR: AFTE
231	BH429	Num	8	1840	SINCE MOST RECENT BHAT INTERVIEW:
232	BH430	Num	8	1848	PAIN ACROSS FRONT OF CHEST LAST HA
233	BH431	Num	8	1856	HOW LONG DID THIS PAIN LAST
234	BH432	Num	8	1864	ACCOMPANIED SWEATING SHORT OF BREA
235	BH433	Num	8	1872	DOCTOR SAY YOU HAD HEART ATTACK OR
236	BH434	Num	8	1880	HOW MANY OF THE ATTACKS DID YOU HA
237	BH435	Num	8	1888	SINCE LAST BHAT INTER SHORT OF BRE
238	BH436	Num	8	1896	SHORT BREATH FROM WALKING LEVEL GR
239	BH437	Num	8	1904	SHORT BREATH FROM CLIMBING 1 FLIGH
240	BH438	Num	8	1912	SHORT BREATH FROM HEAVY LIFTING
241	BH439	Num	8	1920	SHORT BREATH FROM HOUSEWORK OR REP

242	BH440	Num	8	1928	SHORT BREATH LYING FLAT OR ONE PIL
243	BH441	Num	8	1936	SHORT BREATH IMPROVE WHEN SAT UP O
244	BH442	Num	8	1944	SHORT BREATH AWAKENED WHEN LYING A
245	BH443	Num	8	1952	SINCE RECENT BHAT INTERVIEW: HOSPI
246	BH444	Num	8	1960	NUMBER OF TIMES HOSPITALIZED
247	BH445	Num	8	1968	SINCE RECENT INTERVIEW: CARDIAC CA

The CONTENTS Procedure

#	Variable	Туре	Len	Pos	Label
248	BH446	Num	8	1976	SINCE RECENT INTERVIEW: DR TOLD HI
249	BH447	Num	8	1984	SINCE RECENT INTERVIEW: DR TOLD LO
250	BH448	Num	8	1992	SINCE RECENT INTERVIEW: DR TOLD DI
251	BH449	Num	8	2000	SINCE RECENT INTERVIEW: CIRRHOSIS
252	BH450	Num	8	2008	SINCE RECENT INTERVIEW: ASTHMA, EM
253	BH451	Num	8	2016	SINCE RECENT INTERVIEW: STROKE
254	BH452	Num	8	2024	SINCE RECENT INTERVIEW: DEVELOPED
255	BH453	Num	8	2032	SINCE RECENT INTERVIEW: DEVELOPED
256	BH454	Num	8	2040	SINCE RECENT INTERVIEW: OTHER COND
257	BH455	Num	8	2048	SINCE RECENT INTERVIEW: BLACKING O
258	BH456	Num	8	2056	SINCE RECENT INTERVIEW: DEPRESION
259	BH457	Num	8	2064	SINCE RECENT INTERVIEW: TIREDNESS
260	BH458	Num	8	2072	SINCE RECENT INTERVIEW: FREQ NIGHT
261	BH459	Num	8	2080	SINCE RECENT INTERVIEW: HALLUCINAT
262	BH460	Num	8	2088	SINCE RECENT INTERVIEW: RECUR BRON
263	BH461	Num	8	2096	SINCE RECENT INTERVIEW: DECREASE S
264	BH462	Num	8	2104	SINCE RECENT INTERVIEW: HEALTH CHA
265	BH463	Num	8	2112	SINCE RECENT INTERVIEW: FAINTNESS
266	BH464	Num	8	2120	SINCE RECENT INTERVIEW: HRT BEATIN
267	BH465	Num	8	2128	SINCE RECENT INTERVIEW: BLURRED VI
268	BH466	Num	8	2136	SINCE RECENT INTERVIEW: INSOMNIA W
269	BH467	Num	8	2144	SINCE RECENT INTERVIEW: NAUSEA VOM
270	BH468	Num	8	2152	SINCE RECENT INTERVIEW: ABDOMINAL
271	BH469	Num	8	2160	SINCE RECENT INTERVIEW: RECUR DIAR
272	BH470	Num	8	2168	SINCE RECENT INTERVIEW: RECUR CONS
273	BH471	Num	8	2176	SINCE RECENT INTERVIEW: COLD HANDS
274	BH472	Num	8	2184	SINCE RECENT INTERVIEW: BURN TINGL
275	BH473	Num	8	2192	SINCE RECENT INTERVIEW: FLUSHING
276	BH474	Num	8	2200	SINCE RECENT INTERVIEW: DRY MOUTH
277	BH475	Num	8	2208	SINCE RECENT INTERVIEW: SUDDEN HAI
278	BH476	Num	8	2216	SINCE RECENT INTERVIEW: RASH
279	BH477	Num	8	2224	SINCE RECENT INTERVIEW: DRYNESS OF
280	BH478	Num	8	2232	SINCE RECENT INTERVIEW: FEEL BETTE
281	BH479	Num	8	2240	CURRENTLY WORKING AT YOUR OCCUPATI
282	BH480	Num	8	2248	IF NOT EMPLOYED, IS FOR MEDICAL RE
283	BH481	Num	8	2256	SINCE RECENT INTERVIEW: THINK WORK
284	BH482	Num	8	2264	SINCE RECENT INTERVIEW: THINK OTHE
285	BH483	Num	8	2272	SINCE RECENT INTERVIEW: CIGARETTES
286	BH484	Num	8	2280	HAVE USUALLY BEEN SMOKING: PIPE
287	BH485	Num	8	2288	HAVE USUALLY BEEN SMOKING: CIGARS
288	BH486	Num	8	2296	SINCE RECENT: DAYS PER WEEK BEER WI
289	BH487	Num	8	2304	SINCE RECENT INTERVIEW: MARITAL ST
290	BH488	Num	8	2312	WHAT IS YOUR CURRENT MARITAL STATU
290 291	вп466 ВН489	Num	8	2312	WEIGHT, POUNDS
291	вп469 ВН490	Num	8	2328	HEART RATE, BEATS/MINUTE
292 293					•
293	BH491	Num	8	2336	SYSTOLIC BLOOD PRESSURE, MM HG

294	BH492	Num	8	2344	DIASTOLIC BLOOD PRESSURE, MM HG
295	BH493	Num	8	2352	RASH
296	BH494	Num	8	2360	EXPIRATORY WHEEZES
297	BH495	Num	8	2368	ABNORMAL NECK VENOUS DISTENSION PR
298	BH496	Num	8	2376	BASILAR RALES
299	BH497	Num	8	2384	53 GALLOP

#	Variable	Туре	Len	Pos	Label
300	BH498	Num	8	2392	HEPATOMEGALY
301	BH499	Num	8	2400	PERIPHERAL EDEMA
302	BH500	Num	8	2408	EXAMINATION OF PULSES: RIGHT CAROT
303	BH501	Num	8	2416	EXAMINATION OF PULSES: LEFT CAROTI
304	BH502	Num	8	2424	EXAMINATION OF PULSES: RIGHT FEMOR
305	BH503	Num	8	2432	EXAMINATION OF PULSES: LEFT FEMORA
306	BH504	Num	8	2440	EXAMINATION OF PULSES: RIGHT DORSA
307	BH505	Num	8	2448	EXAMINATION OF PULSES: LEFT DORSAL
308	BH506	Num	8	2456	EXAMINATION OF PULSES: R POSTERIOR
309	BH507	Num	8	2464	EXAMINATION OF PULSES: L POSTERIOR
310	BH508	Num	8	2472	HEMIPLEGIA
311	BH509	Num	8	2480	GROSS HEMIPARESIS
312	BH510	Num	8	2488	SINCE LAST EXAM: OPINION ANGINA PE
313	BH511	Num	8	2496	COMPARE TO LAST EXAM: DR OPINION AN
314	BH512	Num	8	2504	SINCE LAST EXAM: OPINION CONG HEAR
315	BH513	Num	8	2512	SINCE LAST EXAM: INTERMITTENT CLAU
316	BH514	Num	8	2520	NEW YORK HEART ASSOCIATION CLASSIF
317	BH515	Num	8	2528	CURRENTLY TAKING AMPHETAMINES
318	BH516	Num	8	2536	CURRENTLY TAKING ANTIARRHYTHMICS
319	BH517	Num	8	2544	CURRENTLY TAKING ANTICOAGULANTS
320	BH518	Num	8	2552	CURRENTLY TAKING ANTIHYPERTEN EXC
321	BH519	Num	8	2560	CURRENTLY TAKING ASPIRIN PRES CONT
322	BH520	Num	8	2568	CURRENTLY TAKING DIGITALIS
323	BH521	Num	8	2576	CURRENTLY TAKING DIPYRIDAMOLE
324	BH522	Num	8	2584	CURRENTLY TAKING DIURETICS
325	BH523	Num	8	2592	CURRENTLY TAKING HORMONAL MEDICATI
326	BH524	Num	8	2600	CURRENTLY TAKING INSULIN
327	BH525	Num	8	2608	CURRENTLY TAKING LIPID-LOWERING AG
328	BH526	Num	8	2616	CURRENTLY TAKING LONG-ACT CORONARY
329	BH527	Num	8	2624	CURRENTLY TAKING MAO INHIBITORS
330	BH528	Num	8	2632	CURRENTLY TAKING ORAL HYPOGLYCEMIC
331	BH529	Num	8	2640	CURRENTLY TAKING POTASSIUM
332	BH530	Num	8	2648	CURRENTLY TAKING SULFINPYRAZONE
333	BH531	Num	8	2656	CURRENTLY TAKING TRANQUILIZERS
334	BH532	Num	8	2664	CURRENTLY TAKING OTHER CARDIOVAS P

Sorted:

The CONTENTS Procedure

Data Set Name: IN9.LAB_RSLT Observations: Member Type: DATA Variables: Indexes:

Engine: XPORT

11:53 Wednesday, December 8, 2004 Created: Observation Len Last Modified: 11:53 Wednesday, December 8, 2004 Deleted Observa Compressed: Protection:

Data Set Type:

Label:

#	Variable	Туре	Len	Pos	Label
1	BH1	Num	8	0	RANDOM IDENTIFICATION NUMBER
2	BH743	Num	8	8	PROPRANOLOL(GROUP ONLY) AT BASELINE
3	BH744	Num	8	16	PROPRANOLOL(GROUP) AT FIRST ANNUA
4	BH745	Num	8	24	PROPRANOLOL(GROUP) AT SECOND ANNU
5	BH746	Num	8	32	PROPRANOLOL(GROUP) AT THIRD ANNUA
6	BH747	Num	8	40	CREATININE(MG/100 ML SERUM) AT BASE
7	BH748	Num	8	48	CREATININE(MG) AT FIRST ANNUAL VI
8	BH749	Num	8	56	CREATININE(MG) AT SECOND ANNUAL V
9	BH750	Num	8	64	CREATININE(MG) AT THIRD ANNAUL VI
10	BH751	Num	8	72	POTASSIUM(MEQ/L SERUM) AT BASELINE
11	BH752	Num	8	80	POTASSIUM(MEQ) AT FIRST ANNUAL VI
12	BH753	Num	8	88	POTASSIUM(MEQ) AT SECOND ANNUAL V
13	BH754	Num	8	96	POTASSIUM(MEQ) AT THIRD ANNUAL VI
14	BH755	Num	8	104	SGOT(IU/L SERUM AT 30 C) AT BASELIN
15	BH756	Num	8	112	SGOT(IU/L) AT FIRST ANNUAL VISIT
16	BH757	Num	8	120	SGOT(IU/L) AT SECOND ANNUAL VISIT
17	BH758	Num	8	128	SGOT(IU/L) AT THIRD ANNAUL VISIT
18	BH759	Num	8	136	CHOLESTEROL(MG/100 ML SERUM) AT BAS
19	BH760	Num	8	144	CHOLESTEROL(MG) AT FIRST ANNUAL V
20	BH761	Num	8	152	CHOLESTEROL(MG) AT SECOND ANNUAL
21	BH762	Num	8	160	CHOLESTEROL(MG) AT THIRD ANNUAL V

Data Set Name: IN10.MI Observations:
Member Type: DATA Variables:
Engine: XPORT Indexes:

Created: 11:53 Wednesday, December 8, 2004 Observation Len Last Modified: 11:53 Wednesday, December 8, 2004 Deleted Observa

Protection:

Data Set Type:

Sorted:

Label:

#	Variable	Туре	Len	Pos	Label
1	BH1	Num	8	0	RANDOM IDENTIFICATION NUMBER
14	BH15	Num	8	104	DAYS FRM DATE OF RANDOM FOR BHAT MI
15	BH16	Num	8	112	DAYS FRM DATE OF RANDOM ONSET TO AC
2	BH17	Num	8	8	CPK RATIO
3	BH18	Num	8	16	SGOT ELEVATED
4	BH19	Num	8	24	CPK ELEVATED
5	BH20	Num	8	32	CPK-MB ELEVATED
6	BH21	Num	8	40	LDH ELEVATED
7	BH22	Num	8	48	HBD ELEVATED
8	BH23	Num	8	56	HOSPITAL RECORDS, PATIENTS SYMPTOMS
9	BH24	Num	8	64	TAKING DIGITALIS AT TIME OF EVENT
10	BH25	Num	8	72	TAKING QUINIDINE AND/OR PROCIANAMID
11	BH26	Num	8	80	TAKING DIURETICS AT TIME OF EVENT
12	BH27	Num	8	88	TAKING POTASSIUM AT TIME OF EVENT
13	BH28	Num	8	96	EVENT CLASSIFIED BY THE CLINICAL CE

Sorted:

The CONTENTS Procedure

Data Set Name: IN11.RANDOMIZ Observations: Member Type: DATA Variables: Engine: **XPORT** Indexes:

11:53 Wednesday, December 8, 2004 Created:

Observation Len Last Modified: 11:53 Wednesday, December 8, 2004 Deleted Observa Compressed:

Data Set Type:

Protection:

Label:

#	Variable	Туре	Len	Pos	Label
1	BH1	Num	8	0	RANDOM IDENTIFICATION NUMBER
2	BH4	Num	8	8	TREATMENT GROUP
3	BH5	Num	8	16	PROPRANOLOL AT BASELINE (PROP GRP)
4	BH6	Num	8	24	DOSAGE RECOMMENDATION
5	BH7	Num	8	32	AGE AT RANDOMIZATION
6	BH8	Num	8	40	SEX
7	BH9	Num	8	48	RACE
8	BH10	Num	8	56	BHAT QUALIFYING MYOCARDIAL INFARCTI
9	BH11	Num	8	64	CLASS I
10	BH12	Num	8	72	CLASS II
11	BH13	Num	8	80	CLASS III
12	BH14	Num	8	88	LOCATION OF MI

Observation Len

The CONTENTS Procedure

Data Set Name: IN12.STROKE Observations: Member Type: DATA Variables: Engine: **XPORT** Indexes:

11:53 Wednesday, December 8, 2004 Created:

Last Modified: 11:53 Wednesday, December 8, 2004 Deleted Observa Protection: Compressed: Sorted:

Data Set Type:

Label:

#	Variable	Туре	Len	Pos	Label
1	BH1	Num	8	0	RANDOM IDENTIFICATION NUMBER
2	BH573	Num	8	8	COMPUTER ALGORITHM CLASSIFICATION
18	BH574	Num	8	136	DAYS FRM DT OF RAND TO DT OF ONSET
3	BH575	Num	8	16	PATIENT HOSPITALIZED FOR OR DURING
19	BH576	Num	8	144	IF YES, DAYS FRM DT OF RAND TO DT A
4	BH577	Num	8	24	NEUROLOGICAL DEFICIT: MOTOR WEAKNES
5	BH578	Num	8	32	NEUROLOGICAL DEFICIT: SPEECH DEFECT
6	BH579	Num	8	40	NEUROLIGICAL DEFICIT: AMAUROSIS/FIE
7	BH580	Num	8	48	NEUROLOGICAL DEFICIT: SENSORY SYMPT
8	BH581	Num	8	56	NEUROLOGICAL DEFICIT: GAIT DISTURBA
9	BH582	Num	8	64	NEUROLOGICAL DEFICIT: ALTERATION/CO
10	BH583	Num	8	72	NEUROLOGICAL DEFICIT: VERTIGO/DYSEQ
11	BH584	Num	8	80	NEUROLOGICAL DEFICIT: BILATERAL/BLU
12	BH585	Num	8	88	CEREB ARTERIOG-LESION CONSISTENT NE
13	BH586	Num	8	96	LUMBAR PUNCTURE SHOW EVIDENCE OF BL
14	BH587	Num	8	104	BRAIN SCAN SUPPRT OF DIAGNOSIS OF S
15	BH588	Num	8	112	CAT SCAN SUPPORT OF DIAGNOSIS OR ST
16	BH589	Num	8	120	THE EVENT WAS CLINICALLY DIAGNOSED
17	BH590	Num	8	128	MOST PROBABLE PRIMARY CAUSE OF STRO